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:       ,     

   = 

S   = 

W   = 

	S	
   = 

W		
    = 

W		 ∩ 	S	
   = 

W		 ∪ 	S	
   = 

  
  

 =      }٥،  ٤،  ٣،  ٢،  ١ ، {  

      =     !"# , 

= % }   :   '(")  ١ >     > ٦ { , 

: '  *+ !,- ./ ("01 

    = 

    = 

	  	    = 

			     = 

		 ∩ 		
   = 

 −     = 

%	 − 		
   = 

  *+ 34S  ,W   ,  345 '6 78, 39 :; , 1 3</		 ∩ 		
  
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٦ ٢ 

W 
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٣ 
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 )٢-٦  ا وا (– ا وا   
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   : !"#" #$ %&' () *+ , -    , !"#" %&' () *+ ,    

: 3/7 1 3<=   

 	S =}٥،  ٣ {  

   ظلل الدائرة الدالة على الإجابة الصحيحة :

., +  !/ !012 () *  3 10 !012 =5  ,S =} .  ,6 {78 , 

S= 

   } −  ,−> {      }  , >{                  } ? {                 } ?  ,−  ,−>  ,−? { 

	 	

٢(   !/ !012 () *+  =} −.  ,:  ,. ,6  { , = ع} . ,{ل = , }  6 .  { ,  

  ل =  –فإن ع 

   }   {                      }>{                          } >  , @  ,− {                 }   , @  ,− { 

  

		Wمن الشكل المقابل :  )٣ ∩ 	S	
   =	 	

 

   }   ,@  ,> {                                         } A {                 }   ,>  ,B  ,?  ,A { 

  

?  : من شكل فن المقابل المنطقة المظللة تمثل 

     W		 ∩ 	S	
                             W		 ∪ 	S	

   

     S ∪ W                   =                        S ∪ S 
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 ب أ

 د ـ ب أ

 د ـ ب أ

 د ـ ب أ
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  S =  } −>  ,@  ,> {  ،W =  } −?  ,>  ,C {,  

  DEF86   :S ⟵ W GEH ,    =   B  + > 

J   DEF86 K ("J 

 

 

 

 

 

 DEF86 L6J M NF5 O")   

 

	 	
 DEF86 34 O 'PQ R8S/ 

 

 

 

 

 / DEF86 T E  *+= U GEH V,F6 ,  ,/76 *+ N LFW  X , 

 

 

 

 

  )٣-٦ واق وأطا (   
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    }٣،  ١-،  ١ { ,  }١٠،  ٥،  ٢ {, 

 : Y DEF86 ⟵     Y GEH , = 
٢
  + 

N Y DEF86 K ("J J 

 

 

 

 

 

 

J MNF5 O")   Y  DEF86 L6 

 

NZE/ R8S/ Y DEF86 34 ( 

  
 Y DEF86 T E/  *+= U GEH  V,F6 ,  *+/75 , LFW  X ,N 
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  S =   }٩،  ٤،  ١ { , W=  }٥،  ٤،  ٣،  ٢،  ١ {, 

 DEF86  :S ⟵ W  , GEH   =  

 DEF86 K ("J J N 

 

 

 

 

 

 DEF86 34 M NZE/ R8S/ 

 

 

 

  DEF86 T E/   *+= U GEH  V,F6 ,  *+/75 , LFW  X ,N 
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  S  }=٦،  ٥،  ٤ { DEF86 ,  :S ⟵ S  , 

 GEH   ) }=٥،  ٦، (  )  ٦،  ٥) ، (  ٤،  ٤  ({  

 DEF86 K ("J J N 

 

 

 

 

 

 DEF86 34 M NZE/ R8S/ 

 

 

  DEF86 T E/  N3/75 DEF85 
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 : !"#" #$ %&' () *+ , -    , !"#" %&' () *+ ,    

 

  DEF86  : }٧،  ٦،  ٥،  ٤{   ⟵}   ٣،  ٢،  ١ {  3= DEF85 Y 

  

>  <6S  = }-١،  ٠،  ١ {DEF86 [ \1 ,  :  S ⟵ W   

 W  GEH ,  ]E]^    [\1 ,  =    

NV,F6 _E" *+= _E DEF85 ` 

  

   ظلل الدائرة الدالة على الإجابة الصحيحة :

  DEF86 [   :  S ⟵  }٥ ،  { GEH W   ]E]^  

 GEH ,  =   A  : DEF85 ` [\1 , 

  V,F6 _E" *+= _E                                  F6" 3= 

 3= _E" F6                         F6 _E" 3= 

  

>   DEF86:  S ⟵ W  GEH W   ]E]^   

 =  
>

  [\1 , V,F6 V7EF85  [  ,S : a"W5 [J < 

   }  , > , B  {            }−B ,  , B{                         } >  , A  ,−> {             }   , @  ,− { 

  

B  : ` DEF86 <Eح ⟵ b  GEH  =    `> – B  =  c  ` [ \1# 

 = c [\1 

     #                                     A                                           ?                                           − > 

 

 ب أ

 ب أ

 ب أ

 د ـ

 د ـ ب أ
  

 د ـ ب أ
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 ;  = < !##= ! >#' #?= @A=B

٢
 : !#= C   @#)# ? , 

 d   =
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> d   = − ?
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-٥ 

-٤ 
-٣ 
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 )٥-٦ را داا (   



































































































































